
283

CM

WP

ME

HA

AP

LG

EP

CS

IN

EL

AV

TO

PS

BV

WWW.AIRCRAFTSPRUCE.COMPrices Subject to Change without Notice - Valid as of June 1, 2024.
Please view our website for current prices.

BERINGER WHEEL & BRAKE PARTS

Description Beringer
P/N

Part 
Number Price

Outer bearing - Individual B-BE-001 06-04287 ---
Inner bearing - Individual B-BE-002 06-04286 ---
Bearing - Individual B-BE-003 06-04285 ---
Bearing - Individual B-BE-007 06-04284 ---
Bearing - Individual B-BE-008 06-04283 ---
Bearing - Individual B-BE-013 06-04282 ---
Bearing - Individual B-BE-014 06-04281 ---
Circlip - Individual C-AL-001 06-04278 ---
Circlip - Individual C-AL-002 06-04277 ---
Circlip - Individual C-AL-003 06-04276 ---
Circlip - Individual C-AL-006 06-04275 ---
Circlip - Individual C-AL-008 06-04274 ---
Circlip - Individual C-AL-009 06-04273 ---
Circlip - Individual C-AL-011 06-04272 ---
Wheel clip - Individual CLP-001(B) 06-04182 ---
Wheel clip - Individual CLP-002(C) 06-04271 ---
Wheel clip - Individual CLP-002(D) 06-04270 ---
Wheel clip - Individual CLP-004(A) 06-01654 ---
Wheel clip - Individual CLP-006(A) 06-04269 ---
Wheel O-ring - Individual - 5” Wheel J-JTR-006N 06-01994 ---
Wheel O-ring - Individual - 6” Wheel J-JTR-007N 06-01995 ---
Wheel O-ring - Individual J-JTR-009N 06-04253 ---
O-ring - Individual J-JTR-015N 06-04252 ---
Wheel O-ring - Individual J-JTR-016N 06-04251 ---
Valve O-ring - Individual J-JTR-017N 06-01996 ---
Wheel O-ring - Individual J-JTR-019N 06-01992 ---
O-ring - Individual J-JTR-023N 06-04250 ---
O-ring - Individual J-JTR-024N 06-04249 ---
Lipseal - Individual J-JBE-002N 06-04256 ---
Lipseal - Individual J-JBE-004N 06-04255 ---
Lipseal - Individual J-JBE-005N 06-04254 ---
Screw M5x20/Vis M5x20 V-CHC-052 06-04213 ---
Screw CHC M6x35 V-CHC-030 06-04214 ---
Wheel assy screw -Individual V-CHC-020 06-04215 ---
Wheel assy screw -Individual V-CHC-015 06-04216 ---
Clip screw - Individual V-CHC-010 06-04217 ---
Wheel assy screw - Individual V-CHC-009 06-04218 ---
Wheel assy screw - Individual V-CHC-008 06-04219 ---
Clip screw - Individual V-CHC-005 06-04220 ---
Wheel assy screw - Individual V-CHC-004 06-04221 ---
Wheel assy screw - Individual V-CHC-003 06-04222 ---

Description Beringer
P/N

Part
Number Price

Back stop - Individual BTR-001(C) 06-04280 ---
Back stop - Individual BTR-002(C) 06-04279 ---
Brake disc - (Package as Pair) DSC-006(B) 06-01119 ---
Brake disc - (Package as Pair) DSC-008(A) 06-01649 ---
Brake disc - (Package as Pair) DSC-008.2(A) 06-01651 ---
Brake disc - (Package as Pair) DSC-009.3(A) 06-01653 ---
Brake disc - (Package as Pair) DSC-009.4(A) 06-04268 ---
Brake disc - (Package as Pair) DSC-009.5(A) 06-04267 ---
Brake disc - (Package as Pair) DSC-011(B) 06-04266 ---
Brake disc - (Package as Pair) DSC-012(A) 06-04265 ---
Brake disc - (Package as Pair) DSC-014(A) 06-04264 ---
Brake disc - (Package as Pair) DSC-015(A) 06-04263 ---
Fixation Pin PIO-006(A) 06-04241 ---
Fixation Pin PIO-007(A) 06-04240 ---
Brake Pad - Individual PQT-003(A) 06-04239 ---
Brake Pad - Individual PQT-004(A) 06-04238 ---
Brake disc - (Package as Pair) PQT-008(B) 06-04237 ---
Brake disc - (Package as Pair) PQT-009(A) 06-03027 ---
Brake disc - (Package as Pair) PQT-010(A) 06-01991 ---
Brake disc - (Package as Pair) PQT-012(C) 06-04236 ---
Brake disc - (Package as Pair) PQT-013(C) 06-04235 ---
Brake disc - (Package as Pair) PQT-014(C) 06-04234 ---
Piston - Individual PSE-002(A) 06-04233 ---
Piston - Individual PSE-003(A) 06-04232 ---
Piston - Individual PSE-004(A) 06-04231 ---
Piston - Individual PSE-005(A) 06-04230 ---
Piston seal - Individual JNT-002N(A) 06-04248 ---
Piston seal - Individual JNT-003E(A) 06-04247 ---
Piston seal - Individual JNT-004N(A) 06-04246 ---
Piston seal - Individual JNT-006E(A) 06-04245 ---
Piston seal - Individual JNT-006N(A) 06-04244 ---
SCREW M8X30 TORX HEAD VIS-029(A) 06-04205 ---
Screw VIS-022(A) 06-04206 ---
Screw - Individual VIS-015(A) 06-04207 ---
Screw - Individual VIS-010(A) 06-04208 ---
Screw VIS-008(A) 06-04209 ---
Brake assy screw - Individual VIS-006(A) 06-04210 ---
Brake assy screw - Individual VIS-003(A) 06-04211 ---
Screw CHC M8x41 VIS-002(B) 06-04212 ---

BERINGER WHEEL
SERVICE PARTS

BERINGER BRAKE
SERVICE PARTS

BERINGER SENSAIR WHEEL TIRE 
PRESSURE MONITORING SYSTEM

Description Beringer
P/N

Part 
Number Price

5” - Experimental Use Only TP-005 06-04226 ---

6” - Experimental Use Only TP-006 06-04224 ---

5” - Certified - For use with STC TP-005 Certified 06-04225 ---

6” - Certified - For use with STC TP-006 Certified 06-04223 ---

BERINGER TOOLS
FOR TIRES & BRAKES

Description Beringer
P/N

Part 
Number Price

Tire mounting tool for 6 Inch HE Wheel OT-001 06-04288 ---
Tire mounting tool for 6 Inch SL-HL-LE 
Wheels OT-001.1 06-04289 ---

Tire mounting tool for 5 Inch Wheel OT-002 06-01109 ---
Tire mounting tool for 8 Inch Wheel OT-012 06-04290 ---
Brake Bleeding Kit ONC01 06-04291 ---
Extended socket for RV14 Axle Nut OPA08 06-04292 ---




